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Paper 19 - COST AND MANAGEMENT AUDIT 

Time allowed-3hrs            Full Marks: 100 

Working Notes should form part of the answer. 

―Wherever necessary, suitable assumptions should be made and 

indicated in answer by the candidates. 
 

1. Answer the four Questions [15×4=60] 
 

(a)(i) What are the benefits of cost information as per the expert committee of India?    (6 Marks) 

(ii)  List out the records to be maintained by companies to which Cost Accounting Record Rules, 

2011 is applicable?                        (9 Marks) 

 

(b)(i) As a cost auditor of a company, how would you deal with the following expenses - 

(1) Separation costs related to voluntary retirement, retrenchment, termination etc. should be 

amortized over the period benefitting from such costs; 

(2) Subsidy, Grant, Incentive or any such payment received or receivable with respect to any 

Employee cost.                          (6 Marks) 

(ii) Bengal Electronics Ltd. is engaged in the manufacture of colour television sets having its 

factories at Kolkata and Gujarat. At Kolkata the company manufactures picture tubes which 

are stock transferred to Gujarat factory where it is consumed to produce television sets. 

Determine the Excise duty liability of captively consumed picture tubes from the following 

information: - Direct material cost (per unit) ` 800; Direct Labour ` 100; Indirect Labour ` 50; 

Direct Expenses ` 100; Indirect Expenses ` 50; Administrative Overheads ` 50; Selling and 

Distribution Overheads ` 100. Additional Information: - (1) Profit Margin as per the Annual Report 

of the company for 2012-13 was 12% before Income Tax. (2) Material Cost includes Excise Duty 

paid ` 73 (3) Excise Duty Rate applicable is 12%, plus education cess of 2% and SHEC @ 1%.  

                       (9 Marks) 

(c)(i) How many Compliance Report a cost accountant in full-time practice can authenticate?  

                       (3 Marks) 

(ii) State the duties & liabilities of a Cost Auditor of the Company?                      (8 Marks) 

(iii) What are the requisite qualifications required for appointment as a cost Auditor of the 

company?                      (4 Marks) 

(d)(i) The risk of material misstatement at the assertion level consists of two components. 

Comments.                       (8 Marks) 

(ii) The cost auditor of the company is responsible for forming and expressing an opinion on the 

Cost Statements. Comments.                          (7 Marks) 

(e)(i) CW Ltd. has its own power plant, which has two users, Cutting Department and Welding 

Department. When the plans were prepared for the power plant, top management decided 

that its practical capacity should be 1,50,000 machine hours. Annual budgeted practical 
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capacity fixed costs are `9,00,000 and budgeted variable costs are `4 per machine-hour. The 

following data are available: 

 Cutting 

Department 

Welding 

Department 

Total 

Actual Usage in 2002-03 

(Machine hours) 

Practical capacity for each department 

(Machine hours) 

60,000 

 

90,000 

40,000 

 

60,000 

1,00,000 

 

1,50,000 

 Required:  

(i) Allocate the power plant's cost to the cutting and the welding department using a single 

rate method in which the budgeted rate is calculated using practical capacity and costs 

are allocated based on actual usage.  

(ii) Allocate the power plant's-cost to the cutting and welding departments, using the dual –

rate method in which fixed costs are allocated based on practical capacity and variable 

costs are allocated based on actual usage.  

(iii)  Allocate the power plant's cost to the cutting and welding departments using the dual-rate 

method in which the fixed-cost rate is calculated using practical capacity, but fixed costs 

are allocated to the cutting and welding department based on actual usage. Variable 

costs are allocated based on actual usage. 

(iv) Comment on your results in requirements (i), (ii) and (iii).           (10 Marks) 

(ii)  What are the steps involved in creation of XBRL instance documents for the Cost Audit 

Report and Compliance Report?                 (5 Marks) 

 

 

2.  Answer any two questions [10×2=20] 

(a) What are the limitations in implementation of an effective internal control system of a 

company?                    (10 Marks) 

(b) (i) Explain the main area of operation of an internal audit of a company?        (5 Marks) 

(ii) What are the documentations required for an internal audit as per Standard on Internal 

Audit-3?                       (5 Marks) 

(c)(i) Explain the objects of Management Audit?               (5 Marks) 

(ii) Explain the need for capacity determination of an organisation in India.        (5 Marks) 

 

 

3.  Answer any two questions [10×2=20] 

(a) Explain the Characteristics of a good performance appraisal report?       (10 Marks) 

(b) The Balance Sheet of a single product company subject to cost audit and the information 

extracted from Profit and Loss Account are given below : 
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Balance Sheet as at 31st March, 2012 

 
 Sources of Funds :               `   ` 

  

1. Shareholder’s funds 

  

  Capital       97,00,000 

  Receipt of Unpaid Calls            5,000 

  Capital Reserve      25,00,000 

  General Reserve     50,60,000 

  Development Rebate reserve         15,000 

  Investment Allowance Reserve    25,50,000   

                      1,98,30,000 

 

2. Loan funds 

 

  Secured loans      Cash credit    1,40,00,000 

          Term Loan         5,00,000 

  Unsecured loans  Public deposits      40,00,000 

          Interest accrued        2,00,000 1,87,00,000 

       Total    3,85,30,000 

 

 Application of Funds : 

 

1. Fixed Assets 

 

  Gross block      1,70,00,000 

  Less : Depreciation        90,00,000 

  Net block         80,00,000 

  Capital Work-in-Progress             75,000 80,75,000 

 

2. Investments 

 

  Other than trade  at cost              5,000 

  National Savings Certificates (Post Office 6 yrs’) 

.  for Central excise Bonds             25,000      30,000 

 

 3. (a)  Current Assets, Loans and Advances   

 

  Inventories      2,52,20,000 

  Sundry Debtors         81,40,000 

  Cash & Bank Balances        30,00,000 

  Loans & Advances        15,65,000  

         3,79,25,000 

 

  Less : 

 

  (b)  Current Liabilities and provisions 

 

  Acceptances (under IDBI bills discounting scheme 

.  guaranteed by the Bank)         5,00,000 

  Sundry Creditors            40,00,000 

  Provisions (for taxation, contingencies & dividend)    30,00,000 

            75,00,000 

 

  Net Current Assets  (a  b)      3,04,25,000 

      Total  :     3,85,30,000 
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Information (extracted from profit and Loss Account) for the year ending 31/3/2012. 
        `      ` 

      in lacs      in lacs  

 

 Sales     975 Mfg. Cost of Goods Sold   725 

 Other income       4 H.O. Establishment expenses    95 

 Excise Duty     81 Interest paid/payable     30 

 Provision for taxation    10 Development rebate Reserve  0.15 

 Investment allowance reserve  0.5 (written back) 

       Profit before Appropriation  37.35 

As a Cost auditor, you are required to work out the figures of :  

(A)  Capital Employed,  

(B)  Net Worth,  

(C) Profit before Interest and Taxation, and  

(D)  The relevant Ratios, necessary for the Cost Audit Report. 

                                  (10 Marks) 

  

 (c)(i) Manufacture’s specification capacity for a machine per hour = 1550 units 

No. of shifts (each shift of 8 hours each) = 3 shifts 

Paid holidays in a year (365 days): 

Sundays   52 days 

Other holidays  8 

Annual maintenance is done during the 8 other holidays. 

Preventive weekly maintenance is carried on during Sundays. 

Normal idle capacity due to lunch time, shift change etc =1hour. 

Production during last five years = 76.20, 88, 65.82, 78.5, 76.6 lakhs units 

Actual production during the year = 76.40 lakhs units. 

Calculate Installed capacity, Available capacity, Actual capacity, Idle capacity and Abnormal 

idle capacity as per CAS 2 from the data given.               (6 Marks) 

 

(c)(ii)  A chemical manufacturing unit uses ingredient ‘Q’ as the basic material. The cost of the 

material is ` 20 per kg and the Input-Output ratio is 120%. Due to a sudden shortage in the 

market the material becomes non-available and the unit is considering the use of one of the 

following substitutes available: 

Materials Input - Output Ratio `/ per Kg 

B1 135% 26 

B2 115% 30 

You are required to recommend which of the above substitutes is to be used.           (4 Marks) 


